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Types*of*problems*for*the*Schrodinger*equaGon*

• Single-particle quantum mechanics, ih̄ ˙
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– Potential barrier

– Potential well

• Two-particle QM (often reduces to 1-particle QM)
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• Many-particle QM: “more is di↵erent” (P. Anderson)
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QuanGzaGon*in*a*…*guitar*string*and*quantum*well*

• *Wavelength*“quanGzaGon”*in*a*guitar*string**
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• *Wavelength*quanGzaGon*in*a*quantum*well*
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Formal*soluGon*

• The actual equation we have to solve is a free S. Eq.:
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, 0 < x < L, with  (0, t) =  (L, t) ⌘ 0
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• The right boundary condition  (L, t) ⌘ 0 yields:

pL/h̄ = ⇡,2⇡,3⇡, . . .
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